A5 AR 1 = X

A

TR 4 (R IR /N Bl A S T

W T H 4 FE T i HAN

T #

¥ 6, 908, 000
T i KD H > 5 ASFISESHISHE T ot TAEIZA
T % o Kk ® 7 A
T /N S e T 0 o 3




No. 1

AR/ NEA AR T3

4 N it o o OB HAAT B Al 4 M i =
- (B3 T A+ PEp ALy )
BT FEAERM Ay E I 1 K 5,064,114 = 4,738,314 + 325,800
= - Bt Gy
Hom R 2 IR R 1 K 68,138 4, 738, 314
I BT 1 K 26, 400
i T 5, 158, 652
BTGy
B E e A B 2R 1 K 208,902 = 4,832, 852
T 5l 5, 367, 554
— R B N 912, 446
T Ak 6, 280, 000
AN W E- ¢ 1| K 628, 000  10. 00%
THHEE 6, 908, 000

#EM




ARty /NEA A T3

FHigs 4 N i ;2 o AL it 4 R i
A EBEELEH
T AT 7 v Ml BERIET A2/150 43.4  m3 4,430 192,262 #HAHANFR
REEREIE, BR - B O e ) LinE 3t $E DO T
T AT 7 ) Nk BERIET A2/150 867.6 | m2 4, 560 3,956, 256 | {ufliF
DT BRG] 5 T 2,300 11,500 |Hiffiz
RS S 1 =K 168, 600 |{UAftiz
FEAEM AL T AT 7V e ay))=h - BVIVESE - B 43.4] m3 3, 050 132,370 |{uAliz
TR B T AT 7V N ay))=h - BVIVESE - B 43.4] m3 6, 390 277,326 {AMi#R
TR ALy Ey TAIFVh, @7 ) — | 108.6 t 3, 000 325, 800 |{XAMiZE
A 7 5,064, 114

#EM




ARty /NEA A T3

% i it i ¥ B HAAT B f 4 M
B ER 5 kg
RiBFHEEB IAN/H 2 A 13, 200 26, 400

B & 26, 400




